
UNITZ

P(S) = 1

P(A)=

P(B):
P(A1B)=

P(AUB) = P(A) + p(B) - P(A1B)

MUTUALLY EXCLUSIVE

P(A1B) =0
B

A

UNDER INDEPENDENCE
--

A = 1 - A
P(A1B) = P(A) P(B)



1= 30180 %F
A

+2 +3

z - N(0 , 1)

P(z > 0 .58) = 1 - P(z > 0 . 58)

X - N(5 , 25) z =10
P(x - 10) = P(z >1)

F



BERNOULLI - COINFLIP

Binomial - Sum of Bernoul

Poisson -> COUNTS Of THINGS

* ONLY CARE TO CLASSIFY RESPONSE

Normal --80 < X < 00

GAMMA -O = X00 time

BETA-0[X = ) PROBABILITY

X-NIMI, N - 00 "EVERYTHING IS RIGHT
"

Mi =M = y > 38 "EVERYTHING WORKS
"
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